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Q1.  For two events A and B, we have the following:

P (A) = .4, P (B) = .3, P (A/B) = .9.Then calculate:

a) 
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Solution:  
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b) 
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Solution:  
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c) 
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Solution:  
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d) Are A and B independent? Explain.

Solution:

A and B are not independent because 
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Q2.  Suppose that there are 30 engineers in the factory. Fifteen of them work extra hours and nine pursue their graduate study at the university and seven   of them work extra hours and pursue their graduate study at the university. One of these engineers is selected at random. Find the probability that he works extra hours or pursues his graduate study at the university. 

Solution:


Let A denote the event that the engineer works extra hours  and B denote that he pursues his graduate study at the university  then

P(that he works extra hours or pursues his graduate study at the university)=
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Q3.   Suppose that the percentage of defective of the product of the factory of fuses is 7%. Tow fuses are selected at random from the product of the factory. Then find the probability that:

a) both are defective
Solution:
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b) At most one of them is defective. 

Solution:
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